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Review: Semester 2 Final Exam
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NO CALCULATOR!
1) Change 
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2) Change 
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3) Change 
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5) Find the exact value of 
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6) Find the exact value of 
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7) Find the exact value of 
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8) Find the exact value of 
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9) Find the exact value of 
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10) Find the exact value of 
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11) Find the exact value of 
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12) Find the exact value of 
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13) Find 
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14) Find 
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CALCULATOR!
Find the value of each, rounding to four decimal places.

15) In ∆ABC, (B is a right angle, (A = 62°, and c = 14.  What is the length of side b?
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NO CALCULATOR!
1)  State the following for each function, if they exist, and then graph them:

· Amplitude, Period, Vertical Shift and Phase Shift (horizontal)
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b.  
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c.  
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2)  Write an equation for the following graphs: 
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3) 
Find the exact value of cos 
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 if sin 
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 is in Quadrant II.
4)   Find the exact value of sec 
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 is in Quadrant III.

5)  Solve for 
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6)  Solve for 
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CALCULATOR!
Answer the following questions about counting and probability.

1) How many ways can you form an outfit of shoes, pants, and a shirt if there are 10 pairs of shoes to choose from, 5 pairs of pants, and 5 shirts?

2) How many ways can you arrange 8 books on a shelf?

3) A die is rolled twice. What is the probability of:

a) Getting the same number both times

b) Getting a 5 both times

c) Getting a number less than 2 both times

4) A coin is tossed 3 times. Find the probability of getting tails all three times. 

5) In my wallet there are 4 ten dollar bills and 6 five dollar bills. If three bills are drawn at random, without replacement, find the probability of the following:
a) P(3 tens)

    b) P(2 fives and then a ten)


c) P(2 fives and then a ten)












in any order

Chapter 9

NO CALCULATOR!
Simplify.

1.  Sketch a graph of the function. State its Domain and Range.
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Domain:








Range:

2. Write the exponential function that passes through 
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 (CALCULATOR OK!)
Solve each equation.

3.  
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Write each equation in logarithmic form.
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6.  
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Write each equation in exponential form.
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Solve each equation.

9.  
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CALCULATOR!

Evaluate each log. (round answers to four decimal places)

1) 
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2) 
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Change each log expression to common logs. (round answers to four decimal places)
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Solve each equation below. (round final answers to four decimal places)
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Use the equation: 
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 to answer #12 and 13 (round final answers to two decimal places)
12) Tessa is saving for a new TV and stereo system. She just received $2000 for graduation and plans to invest it in an account that earns 4.35% interest compounded monthly. How long will she need to invest her money in order to have the $3000 she needs to buy the system?

13) Phil wants to double his $17000 investment in 8 years. What interest rate would he need if the interest is compounded annually?

Chapter 8:  RATIONAL EXPRESSIONS AND EQUATIONS:
1.  Simplify.  Under what conditions is the expression undefined?
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2.  Simplify each expression.

a)  
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b)  
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3.  Solve for x.  

a)  
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b)  
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STATISTICS:
1.  The Hinsdale Central basketball team has an average height of 70 inches with a standard deviation of 3 inches.  

a.)  What percentage of basketball players has a height between 67 and 79 inches?


b.)  What percentage of basketball players has a height above 74 inches?

2.  Find the standard deviation of the following test scores:  85, 89, 80, 88, 90.

3.  The following is an example of which sampling method?


a.)  All of 10th hour Algebra 2 students are lined up and every 5th student is selected.

b.)  The hospital is divided into occupation groups (doctor, nurse, therapist, etc), and then a random sample is taken from each.
Chapter 13
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